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Solutions to Exam A
January 2010

If Al plays the role of the variable x, then one possible way of writing
the function is:

A B
0

1
2
3 =IF{A1>=6;ABS(A1);IF(OR(A1=3;A1=5);FACT(A1)};EXP(AL)))
4

The values of the function at -2 and 4 are simply f(-2)= 0.135335 and
f(4)=54.5982.

Marking: 2 marks for the correct values of f(-2) and f(4). 7 marks for the correct
function structure and 3 marks for using the correct Excel Built-in functions for
factorial, exponential and absolute value.

In order to answer part ii) it is convenient to re-write the functions in a form similar
to part i). If we call the first function g(x) and the second function h(x), they are:

g(z) = 3

z? for z <2
x° otherwise

1 for <0 or 1<x<?2
hiz) = 0 for 0<z<1
z otherwise
Therefore, for function g(x), the function is zero at x=0 and is positive everywhere
else. The function h(x) vanishes for 0O<x<1 and is positive everywhere else.

Marking: 6 marks for correct answer for function g(x) and 7 marks for correct
answer for function h(x).
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Function epeiye As Integer, bho Ls 3tring) As Single

vl = Application.WorksheetFunction.Vihookup(ye, [kh2:£3], 2, False)
v2 = Application.WorksheetFunction.Vihookup(ye, [kh2:£3], 3, False)
v3i = Application.WorksheetFunction.Vihookup(ye, [kh2:£3], 4, False)
vd = Application.WorksheetFunction.Vihookup(ye, [kh2:£3], 5, Fal=se)
x1 = Application.WorksheetFunction.Vhookup(ye, [k4:£5], 2, False)
¥x2 = Application.WorksheetFunction.Vihookup(ye, [kh4:£5], 3, Fal=se)
®x3 = Application.WorksheetFunction.V0ihookup(ye, [k4:£52], 4, Falzse)
¥4 = Application.WorksheetFunction.V0ihookup(ye, [k4:£5], 5, Falszse)

Jelect Case bo

Case "Islington™: epc = (vl + w2 + w3) * 1000 / w4
Case "Eengsinton™: epc = (xl + xZ2 + x3) * 1000 / =4
Caze Else: epc = "this horough is not on the list™

End Zelect
End Function

epc(2006,”Islington”)= 6,43545961

Marking: 8 points for the correct Select Case structure, 4 points for correct definition of
input and output data type, 8 points for correct use of Vlookup functions, 3 points for
correct formulae for epc and 2 points of correct value of epc(2006, "Islington”).
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Function avail(x As Date) Ls String

If Monthix) = &6 Or Monthi(x) = 7 Or Month(x) = & Then
awvall = "Not available™

El=se

If Weekday(x) = 2 Qr Weekdavyi(x) = 3 Or Weekday(x) = & Then
avail = "Available between 12:00 and 15:007

Elzelf Weekdavyi(x) = 4 Or Weekday(x) = 5 Then

avail = "Available between 15:00 and 17:007

El=se

avail = "Not avallable on weekends"™

End If

End If

End Function

avail(1986-12-22)= “Available between 12:00 and 15:00”

Marking: 12 points for the correct /F...ELSEIF structures, 4 points for correct
definition of input and output data type, 6 points for correct use of Month and
Weekday functions, 3 points for correct value of avail(1986-12-22).
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Function weave(na As 23tring) Az Variant
If na = "Swith"™ Or na = "Patel™ Or na = "Hussain"™ Or na = "3olanki™ Then
¢l = Application.WorksheetFunction.HLookup ("F1", [kbl:e&], 6, False])

c2d = Application.WorksheetFunction.HLookup ("Fz2", [bl:e&], 6, False])
c3 = Application.WorksheetFunction.HLookup ("F3", [bl:e6], 6, False])
cd = Application.WorksheetFunction.HLookup ("F4", [bhl:e6], 6, False)
21 = Application.WorksheetFunction.Viookupi(na, [aZ:e53], 2, Fal=se)
22 = Application.WorksheetFunction.Viookup(na, [aZ:e53], 3, Fal=se)
=23 = Application.WorksheetFunction.Viookup(na, [aZ:e53], 4, Fal=se)
=24 = Application.WorksheetFunction.Viookup(na, [aZ:e5], &5, Falze)
weave = (81 ¥ ol + 22 F o2 + 33 Y o3 o+ =24 f cd) F ool + o2 o4+ 23 o+ od)
El=e

weave = "not on record”

End If

End Function

weave(“Solanki”)= 77,58636364

Marking: 7 points for the correct HLOOKUP functions, 7 points for correct
VLOOKUP functions, 4 points for correct formula, 4 points for correct definition
of data type for input and output, 3 points for correct value of weave(““Solanki”).



